
SAP ABAP table TESERVICE {Alloc. of Service Obj. to Division and Set Level}

TESERVICE

MANDT [CLNT (3)]

SVOBJ_ID [CHAR (2)]

SVOBJ [CHAR (30)]

SPARTE [CHAR (2)]

SETEBENE [CHAR (10)]

T399A

MANDT [CLNT (3)]

IWERK [CHAR (4)]

SVOBJ_ID [CHAR (2)]

SVOBJ [CHAR (30)]

 TESERVICE-SVOBJ = T399A-SVOBJ 0..N

0..N
TESPT

MANDT [CLNT (3)]

SPARTE [CHAR (2)]

 TESERVICE-SPARTE = TESPT-SPARTE 
0..N0..N

TSV_SETEBENE

MANDT [CLNT (3)]

SETEBENE [CHAR (10)]

 TESERVICE-SETEBENE = TSV_SETEBENE-SETEBENE 

0..N

0..N


